
Example �. Consider an economy with � industries/products. Suppose the inputmatrix is

A =
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and the �nal demands for the � products are d� = ��, d� = �, and d� = �.

a. What are the primary inputs of each product?
b. What is the required output of the � industries?
c. Find the total required amount of primary inputs for this economy.
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A . do , = I - ( o . 2 t 0.4 t O . I ) = 0,3

Aoz = I - ( 0.3 to .
I t 0.3) = 0.3

Aog = I - (or 2 to . 2 to
.2) = 0.4
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c- Total required amount of primary inputs
= Ao , X ,

t Aoz Xz + A0343

I 0.3 (24.84) t o .3120.68) t 0.4 ( 18.38)

= 21

How much does industry 2 pay industry 3 ?

0h32 Xz I 0.3 (20168 ) = 6.204


